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SEE 2081 (2025)
afrard niforer

qHY : 3 O qUiTEe & 9%,

ReguaT R AT JTF ST Rysfareas o el

qd YAE® AErd S | (Answer all the questions.)

360 ST faamdiessr THEAT T80T & 100 T ATDE A Wl WA WA
QRISSA | 60 FATr febe @« WIT W9 WIESA 7 100 919 59 AT

T 9 AT RIEeAA |

In a survey of a group of 360 students, 100 students like basketball
game only, 60 like cricket game only and 100 do not like any of the two
ames.
(ga) afg '‘B'I'C' ¥ HHW: Ar<bead  fhhe €@ A7 WIS [qandigsa
g SANEeA W9 n(BUC) 1 W i g8 7 AeTer |
If 'B' and 'C' denote the set of students who like basketball and
cricket game respectively, then what is the value of n(BUC)?

Write it. (D
(b) i qeaeTg A e IRa e |

Present the above information in a venn-diagram. (1)
(c) T &« W9 WIS fqandiessr qgen Jar v msdery |

Find the number of students who like both the games. 3)

(d) afe G 9eF BR FEW TR FHA G GAHT T ANCH g
fordhe @9 99 URIT T ANT QUTEd GISAT A SITHT T3 @ HA
W& faendiesad! ag@n Fia gatadr ? 9ar aeqerd |
If everyone who is not interested in any game liked cricket game in
the second survey and found others to be same then, what would be

the number of students who like at least one game? Find it. (1)
A THET 2 quaT AT 10% TR 1o R %.10,000 FT9ET

fug T @fiy J9T 97 W 9F RT3 961 T XA aie 9@

TSI YTHETs Qr9er faug |
Rajan borrowed a loan of Rs.10,000 from Ram for 2 years at the rate of
10% simple interest. Immediately, Rajan lent the same sum for same
time and same rate of interest compounded annually to Shyam.
(a) FEUr TIIAR, 2 FUFT A=AH] g WIURY 4TS T Fehg A
AU FA 961 §75 7 eI | .
According to the given context, which interest is more among
simple interest and compound interest for 2 years? Write it. (1)
SHI
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(b) TS IHT FRIARAT 2 GUAT HiT FIEAT 9T ? TaAT ANMS TR |

How much' profit did Rajan get during the transaction of 2 years?

Find it. )
(c) - T TS IHT THA Aaiiies SR ToTeeHT ATadr feuar Wu 99

' i =TT AT & a9 7 gr anee |

How much more interest should Shyam need to pay. to Rajan if
Rajan had lent the amount at semi-annual compound interest? Find

it. (2)
& MEH FTHT TAGGET 20,000 & | IHR MEHT AGEF 2% FT A
SaSEn 9l gH

The population of a village is 20,000. The population increases by 2%
annually in the village.

© (a) U FEH FHELEm P, wmugen 3fgex R gfdad T T adufadr

If the initial population is P, growth rate is R per annum and
population after T years is Pt then write the formula to find Pr.(1)
(b) i adufey | MEH T 20,808 TE ? T AMS T |
After how many years the population of the village will be
20,808 ? Find it. (2)
(c) uﬁqﬁrm3%$rqumq&:ﬂ@?fwzadmmm
TSR FHA agE, ? Tl S ery |
If the population increases at the rate of 3% per annum, by what
number will the population of the village be increased in 2 years?
Find it. : (1)
a1 fafiaw RaER & e 1 aﬁﬁaﬁrmaﬁzﬁ%3 136.13
¥ fadiraR A.%. 137.25 Paar o
According to the currency exchange rate, the buying rate of
1 American dollar was NRs. 136.13 and selling rate was NRs. 137.25
in a certain day.

(a) T arf SR A et W ake < R WO

AT &5, 7 defeiq | :
Which rate buying or selling is used when you exchange American
dollar into Nepali rupees? Write it. (1)

(b)mﬁaﬁqﬂmlooowmmﬁmmm?w
AMSIY |

How many Nepali rupees can American tourist get by. exchanging
1000 dollars? Find it. ‘ (D

DHI
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(2) " RE-1031'KoP -

(c)mmﬁﬁqﬂmﬁwm%molsnsowmm

YT AT Riepar Al TFHST ST FARST I qeal ™ TR !
I TSIy |

The American tourist spent NRs. 1,01,817.50 while staying in

Nepal, how many American dollars can he/she exchange from

remaining Nepalese rupees, while returning back to own country?
Find it. (2)

@ faudieesr TEd AUR e a@wErg 24 BeR T OITEr 9T
5 fEY WU 3T aiieR ATUR S RRIAS ATFRST & aATa |

A group of students constructed a square based pyramid shaped tent
having length of base side 24 meter and vertical height 5 meter.

(a) T IMR WeH Rrifrewr #ader BrimeR waees ge ?

(b)
(©)

ACHF FI&H  ael T el

SR B | | ZJmO 0 1 16m

|
How many triangular surfaces are there in the square based

pyramid? Write it. | . (1)
IHT WA FER AR AU TEhl S 913 Ial AMGary |
Find the slant height of the above square based tent. (D

PR adeeenr gfa @ e €.125 &1 RS HIST TGSl ST
Fia @9 aNE 7 I SRy |

What is the total cost of cloths required to make triangular
surfaces at the rate of Rs.125 per square metre? Find it. (2)

24m

In the given figure, wooden

cylinder and cone havmg

equal base are shown.

(a)

®)

(©)

AT A 9T S YA Ao |

Write the formula to find the volume of a cone. - )
TERUH TREEAT FElP! A q0T TSy |

Find the volume of the cone in the given objects. &)
feguar e fegqa@r 9ol TR EITHT, IHRT A FSH AT

T afehr g A9S 7 T SRR |
If given wooden cylinder is drilled out in the given conical shape,
what will be the volume of remaining wood in cylinder? Find it.  (2)

HHI
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wSer gaidar @rng 10 by, e 0.5 . T 991 2 P B Sw wEie
TATST 25 AP X 12 A X 8 A AU FeRE TANT RUE o |

W I T — VT A A A B

The length of a wall is 10 m, width is 0.5 m and height is 2 m. Bricks
of size 25 cm X 12 cm X 8 cm are _uscd to build the wall. Also, ;16 part
of the wall is occupied by the clay joints.

(a) T TG TS FaNET FeEE Aferor] ! Tl AT |
How many bricks are required to construct the wall? Find it. (3)
(b) RT 1000 T YT %.14,500 F WA G GE@IA IAGT AT ITH G
A TR |
Estimate the cost of bricks used in the wall at the rate of
Rs. 14500 per 1000 bricks. | (D

TS Yoish fad afeear femer st dreaR I d SET T T 7 femee
TS YEHHT T a9 TR | STHAER 999 Wiewr faA % 10, T
fet .20, ST R 3. 40 T8 7 3 feAe e AW W I@H TH T |
Ramesh deposits the amounit in a co-operative for 7 days by increasing
the amount every day double than the previous day. He deposited
Rs. 10 on the first day, Rs. 20 on the second day, Rs. 40 on the third
day and so on till the 7" day. | |

(a) WIS T=H ITAR AT RPN WEAATE a1 A FF TFRST T8 7

deterd |

What type of series is formed from the deposit amount according

to above context? Write it. (D
(b) 7 FETET ArAEEAT TN i (A W TS 7 @ TR A O

TMEE |

How much amount will Ramesh deposit by the end of 7 days?

Find it using formula. (2)

(c) afz YA 4 Feaern wrr U@ WA ufe o fa@ wg 7 e
AT I Bl THH ATH LS ? TaT i |
If Ramesh withdraws the amount deposited by 4 days, how much
will he receive at the.end of the 7" days? Find it. (2



9.

10.

11. fezuar faawr AABC T ABCD U@¢ 3R BCX A
JET FUHTR @e® AD ¥ BC fa=r et & |
fag B =re @1 AC- W1 @+ BP fafear & |
In the given figure, AABC and ABCD are . / >
standing on same base BC and between same
parallel lines AD arid BC. From the point B,a B >
perpendicular BP is drawn to the line AC.

(a) Fegwar faawT ABAD &1 &FRadT avia) g o AW Jeieie |

(1)

RE - 1031'KoP

TG AMAHR  AAS A g @l C
e T 40 B a9 g T waar fawer @
MR 40 B 93 & b d
The longer side of a rectangular ficld is 40 m
more than the shorter side and its diagonal is J 0O
40 m more than its longer side. — ] —5
(a) wifydr g= FER wfHAar g (/)

=13 (b) T faeut (d) faerer v S |

Write the relation among the length (/), breadth (b) and diagonal

(d) of the field according to the above context. (1)

(b)

(c)

HAAATHR ATHTRT Gl SO T ATH TR a8 It s ery |
Find the length of the shorter 51dc and longer side of the
rectangular filed. (2)

SR AAAFPR AtHaAr 30 PR x 20 f. A9 afudaw wid e
ST Ehies TR T4 |ibra ! Il TS Terd |

How many maximum numbers of plots of size 30 m x 20 m can be
made from the rectangular filed? Find it. (2)

q+r r+p -

ar TP

(2) &R TR (Simplify): ”p’;" —ar T @)

(b)

& TR (Solve): 3¥ + 37 = 951,' | 3)

Write the name of triangle whose area is equal to area of ABAD in
the given figure. (D

(b) afk AC=9&fa. T BP =63 WWBCD?{’:’TWW

Wﬂ?ﬁ?ﬁ[ |
If AC =9 cm and BP = 6 cm, find the area of trigmgle BCD. (2)



12.

13.

(%) RE - 1031'KoP '

(c) fegusr Paawr PQRS uwser #weE  p >— Q
i@ & | et PQISR & | @d M T N
FA faFvigE PR T QS #1 wuifaps
&1 M AMSR = ANSR &3 "f7 gwfire
TR X
In the given figure, PQRS is a S - R
trapezium, where PQIISR. M and N are the mid points of the

+ diagonals PR and QS respectively. Prove that: AMSR = ANSR. (2)

Bw=t PQR T ZPQR =60, QR =8 &.fA. T PQ =6 #.FA. fazuam & |
In a triangle PQR, ZPQR = 60°, QR = 8 cm and PQ = 6 cm are given.
(a) WIRTET ANERE APQR &I TN TR T IH Prawa
ATEAT aRER gH T T3 (1A RITA F1 9f9 =41 T |
Construct a APQR according to above measurements and also
construct a rectangle RITA equal in area to the triangle. (3)
(b) THY TS PO T TS GG Rh ARTEY g8, ? PR e |

Why the areas of triangle and rectangle so formed are equal? Write

reason. (1)
fesuar guad Fwiag O § | IRy FvEE PAQTY A B
PBQ@%WPQmanmﬁaml

O is the centre of the given circle. Inscribed angles
PAQ and PBQ are standing on the same arc PQ.

(a)wﬁﬁrmPAQzPBQMW

AEE | P Q
Write the relation between the circumference
angles PAQ and PBQ. (1)

(b) T = HT POQ @ AT (12x + 4)° wﬁﬂ:m PAQ &I A9
(3x + 20)° B T x &I AT [APeare |
If the measures of central angle POQ is (12x + 4)° and the
measures of inscribed angle PAQ is (3x + 20)°, find the value of x.
(1
(c) TIE ATYHT IHST dwq HIv7 gfefr Fre =R g7 T TTER
Fag TR | (andeam 3 A Wﬂ'&tmﬁaﬁamw
a1
Verify experimentally that central angle is double of the inscribed
angle formed on same arc. (Two circles having radii more than 3
cm are necessary.) (2)

S HT
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14. st P oy AB #t 9918 4.5 T T e p
CD &I S=1% 4.5 e &7 | BC & &% T o7
fer=rar T 9198 |
In the given figure, height of the tower AB is | D
24.5 meter and height of a house CD is 4.5 meter. E
BC denotes the distance between tower and house.
-
(a) Swee Hrers qfonfr THER ) B fc
Define the angle of elevation. (1)
(b) AE 1 W9 9O @MSTard |
Find the value of AE. (1)
(c) dfz ZADE= 30°W*«rmzad’aﬂa?r§?rwwnmml

15.

If ZADE = 30° find the distance between the tower and the house.(1)

(d) AEX Ebmmmmﬂmwﬁrmmmaﬁ
&8 7 AT TR |
By how many degrees is the angle of elevation less or more when
AE and ED are equal? Compare it. (1N
75 QUITSHHT e Ueer g faamdiess o TR ASE aeen
aifaer fegTr &1
The marks obtained by the students in an exam of mathematics of 75 full
marks are given in the following table.
qrrg® (Obtained Marks) 0-15 |15- 30 30-45 {45-60 |60-75
fa=rdt I==ar (Number of students) 2 4 6 3
(a) mﬁmmﬂaﬁﬁvﬁmml
Illustrate the modal class from the above data. (1)
(b) wifger aifeerare Aftasr FHereiery |
Find the median from the above table. - ()
(c) wITgeT aifaeae A quT TSTer |
Find the mean from the above table. 2)
(d) @ gherar Feartt fandt agemer da Al w1 qE Ecn

i gfaera faadt @eq 7 Tar SR |
Among all the participants in the exam, what percentage of students
obtained marks below the model class? Find it. (N
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16. TSN AIAHAT 6 AT JaT T 10 ST F1AT I T IT Ide® o | g8 AT
qORE THUTS ABT T g @Y PRt 87
A box contains 6 white and 10 black balls of same shape and size. Two
balls are drawn at random one after another with replacement.

(a)

(b)
()
(d)

g A T B TEaMer s weAeE A¢ araerars e e
| .

If A and B are two independent events, write the multiplication law
of probability. (N
T FrNfaa IRUTHESS! IEATATaTs gefaaHr TEree |

Show the probability of all the possible outcomes in a tree diagram. (2)

g9 a9 el G I ARHTEIAT ST TSR | |
Find the probability of getting both balls of same color. (1)
T T B (ST I JEATEAT, §9 I AT TSH I Gearear 9w

Hiq FH AT qe § 7 T Ao |
By how much the the probability of getting both balls of different

color is less or more than probability of getting both balls of white
color? Find it. (1)

-0-
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Afvard wiftrer

|qHY : 3 HUT | qUITEEF : \SY
Rewar frdvraaT amarear 3wt vistar Rystarcre gav Rqeig -

I YTAEE Aard B | (Answer all the questions.)

1. 160 ST WfF&EeH WHEHT RGP TFETHT WG A T FAel AT 7T
WIS ATTReEH T3 A 75 T 45 S | STHAEA 23 A0 gEHYT
T 9T AT WL |
A survey conducted among 160 people, it was found that the number of
the people who like only apple and only orange are 75 and
45 respectively. Among them 23 people do not like any of these two.

(a) Y AT WRA WTaH TENE A T el A RIST AT
WEaE O 9 TN &Y U GApd WA A9IST Wi
AT TUATCHEGAT FHAAT eI |
'A’ represents the set of people who like apple and 'O’ represents the
set of people who like orange then write the cardinality notation of

the number of people who don't like any of these fruits. (1
(b) wniger ST = Feraar woqm R
. Present the above information in a Venn diagram. (1)
(c) WS AT WIS WTHP T T4 TSR |
Find the numbszr of people who like apple. (3)
(d) VN AT WA T el A7 WIS Afazes ggaiad q@d
1|"'j§|ﬂ |

Compare the number of people who like apple and who like orange. (1)

2. fRerer i 10% I99 FNRAHT TS dgHAie 2 9Ud @
%.4,00,000 1T feTs; | I afeelt adBr AT 6.2,40,000 FAEEA |
Neeraj took a loan of Rs.4,00,000 for 2 years at the rate of 10% annual
compound interest. He paid Rs.2,40,000 at the end of first year.

(a) ¥mEl P, 9t 9 =9 R/ R, I9G T T 919 a9 Cl fasar

A d&Ry |

Write the relation among principal P, annual compound interest

rate R, time T and compound interest CI. ¢))
(b) ufe<T qUHT TR AW T TMIEIY |

Find the compound interest of the first year. (2)

S HIT.
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(¢) P g abar sremr sty @ R @@ 2 R S

How much total interest was paid by Niraj in two years? Find it.  (2)

e uger Afas 5.40,000 wir Refafer | dfeer e afts 5% @
T Pesr e | O eyt Sw A %.36,100 W At
Neelam bought a machine for Rs. 40,000. The price of machine
depreciates at the rate of 5% annually. The machinc is sold for Rs.
36,100 after using for some years.

(a) e a dfgaer qer Fhae geg ? 9ar TSR |

By how much does the price of machine depreciate in first year?

Find it. )
(b) T adufy @ Afew Faaft wfvaar Padr ? aar SRR
After how many years was the machine sold? Find it. (1)

(c) afk Sa g% A wrer f&g wer ava %.4,900 FASTAA oA
Afgar faarr IAeng Ffa gfqea ATET 91 AR g ! 9
AMITH |
Find the profit or loss percentage from selling the machine if she
earns Rs.4,900 from the rent of machine. (2)

WIET 7.9.2,07,345 Py 1 I AR s wew dzF woar fe

fafras <= feer s R o

Ramesh had NRs. 2,07,345. When he went to bank the exchange rate

was as follows.

$1 @r @it T =7.%.138.23 (Buying rate of $ 1 =Rs. 138.23)

$1 @ fawrer =.%.138.83 (Selling rate of $1 = Rs. 138.83)

(a) T AuTelr SR AR SR wrewr 9 fafwa o owEm
g 7 aEger |

Which exchange rate is used when Ramesh exchange American

dollar with Nepali rupees? Write it. (1)
(b) A.%.2,07,345 ATE W< EA ARPT IR T TS TRI |
Find the American dollar obtained from NRs. 2,07,345. (2)

(c) AT erAr Ffa gfawa sEHea dar | i SR faer )

%.140.2183 & ? YAT AMETRIY |
By what percent Nepali currency is devaluated when the selling

rate of 1 US dollar is Rs. 140.2183? Find it . (1)



Y

faem frgvad wwfave s R Fenfwgad -

wrnwA 812w Ay ¢ wniRt pnEr s / RS I

DEALE G R ) . a
")

/

.
The volume of square based pyramid given in '.\\ < /
the figure 1s S12 cubic cm and length of side of / R /
base 15 16 cm. Bem

(a)

(b)

(¢)

T W Uy ReafrEa qu wawat ArvwE AT m, s
N wWAR Aagay awwa e frsg 0 aEET )
How many plane surfaces arca are counted to find the total surface

arca of a square based pyramid? Write it. (1)
@ funiwga ard g gAr SRR |

Find the vertical height of the pyramid. (1)
¥ fyafiga qo warar Srwe qar SRR )

Find the total surface arca of the pyramid. (3)

FAA R geeare a9ar 7 adfvren fafa g oger v e
=TEA | A QR @ I9g 3.5 P 7 smm@r s 1.05 R

ol

Jyoti bought a tank made up of a cylinder and a hemisphere from the
local market. The total height of the tank is 3.5 meter and radius of

base is 1.05 meter.

(a)

(b)

(c)

o v yviren fafq aa@r @ 3 AR FaNiET 9% waeeRe
RO 7 OTeT |

How many curved surfaces are there in a combined solid made of a

cylinder and a hemisphere? Write it (1)
I AT AT G ATMI eI |
Find the volume of the tank. (2)

39 g admr @t frex arfl sETEE 2 g ArSTRR |
How much maximum liters of water is contained in the tank? Find

it, (1)



(¥) RE-1031'MP"
TSl AWMATER I 73418, N2 T I9rg w16 fee, 12 fee ¢
9 RrE O | S Pt 4 ReE e wuan gaiier anier seRs T
S 6 Ree x 2 Reewy dan &
The length, breadth and height of a rectangular room arc 16 fl, 12 fi

and 9 Q1. respectively, There are two squarc windows of dimension 4 fi
and one door of dimension 6 it x 2 fi.
(a) ST Tz whrt fee $.300 &1 @ e Fogrdsr #fa ad
qAFS, ! g SISy |
How much does it cost for carpeting the room at the rate of
Rs.300 per sq. ft.? Find it. (2)
(b) afz Y IH aed Ih PSR AR T fafegrar @ A
¥.19,560 & 9F& 99 Wiq T91 RFe @ TNET R I01 FSTE |
If the cost of coloring four walls and ceiling excluding doors and
windows of the room is Rs.19,560, find the rate of coloring per
square feet. (2)

RS AT PR AT qfeer SAfeqdr ¥.1,000, ST STRA{GAHT
%.2,000, G9T STHIGHAT 7.3,000 FT G TIT ASHAT IHH AT TG |
T BF THIETAT ¥.1,000 7 R TGS TG |
Hari deposited Rs.1000, Rs.2,000, Rs.3,000 in bank on his son
Aashish's first, second and third birthday respectively. In this way, he
increases the deposit by Rs. 1,000 on every birthday.
(a) FHFTOT AHAT FEARTATE gy T |
Define mean in arithmetic series. (1)
(b) T STHIEATAT FT FH T GG ! T TS|
How much total money is deposited upto 10* birthday? Find it. (2)
(c) & TURY WATGAWHIAT TS AT 3.66,000 SH § ? IR
fegerey |
Is Rs.66,000 deposited on Aashish account by 11" birthday? Give
reasons. )

(d) «fger @rarm Ha FEEEET €.1,05,000 SETORem 7 g

ST |
In how many years, will Rs.1,05,000 be deposited in the account
of Aashish? Find it. (2)
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0, afmy shwway Amw weng vy e A APl aear A drEa
TR | S AEA ATRT 800 At @
Kniti wants to fence her ficld having length twice of breadth, The arca
of the field 1s 800 square feet.
(a) w5 wroa) @n @wEy A
Wnite down the standard form of quadratic equation. (1)
(b) &7 affr uE wew araA Yo wer wfr AT Aw
TiRTE ? qwW AR )
How much the length of wire is required to fence the ficld once
with wire? Find it. (3)

10. (a) A THAR (Simplify): xyfy,+xyf ~ )

(b) FF TR (Solve): 2% +32=10 (3)

11. Rzq@ far APQT, ¥WMIAR SROWEE . U S _
PQRS 7 PQUT TS¢ MR PQ T S&r 7 /"

TR @ee PQ Y TR = aaa & |

In the given figure, APQT, parallelograms 5
PQRS and PQUT are standing on the same

base PQ and between the same parallel pP—Q
lines PQ and TR.

(a) AR Fee® PQRS ¥ PQUT &1 Swafaaa wary Serd |
Write the relation between the areas of parallelograms PQRS and

PQUT. Q)
(b) APQT ¥ &THd FAMIRK T PQRS # SAG@! T T

af7 g THER

Prove that area of APQT is half of the area of parallelogram

PQRS. ()
(c) & feguar Feret AAPDT ABPQ # 8A®H A ___ O

AT B ? TR Al A |

Are the areas of AAPD and ABPQ equal in Q

the given figure? Write with reason. S

2) 8 c
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12. mmommﬁnﬁmMpr "
L gaet qRimr 9 |
In the given figure, O is the centre of the circle. The
points M, N, P and L are on the circumference of the

circle.

(a) ok Hrorems afeaira TR |
Define the inscribed angle.

(b) al @I FOw LOP = (9x + 2)°
LMP = (4x + 5)° T x & AT IAT TSI |
If the central angle LOP = (9x + 2)° and inscribed angle
LMP = (4x + 5)°, find the value of x. (n

(c) aRfr #FveE® LMP ¥ LNP SR §ad 971 TancHe fafuare
g TR | (R 3 AW, anfe auer §F qeEe aevas
a1 1)

Verify experimentally that inscribed angles LMP and LNP are
equal. (Two circles having at least 3cm radii.are necessary.) (2)

13. (a) {9 PQRS #I =T TR &l PQ = 5.4 ¥.fa, QR = 5.6 A.f1,
RS=543f, SP=68%f T ZPQR= 75°a7[|ﬂ?p1?rPQRSafr

WwﬁWWPSMﬁWWI

Construct a quadrilateral PQRS in which
PQ =54 cm, QR = 5.6 cm, RS =54 cm, SP = 6.8 cm and

ZPQR = 75°. Then construct a triangle PSM equal in area to the

quadrilateral PQRS. ' (3)
(b) ¥ fegger qUEMIR I ABCD -1 p o

AE=BE @ % Pn{&f BEC® MR S(q@r |

ABCD @1 #fa gfawra &awe AT § ? I

a'ﬂraqﬂ'm

In the given adjoining parallelogram ABCD, _ A

AE = BE. What percentage of area of A E

parallelogram ABCD is occupied by the

triangle BEC? Find it. _ ¢))




14, % feguar faawr PQ & W@l S92, RS &
TA@ 93 T QS § wue

ZErE SSE |

In the given figure alongside, PQ represents
the height of house, RS represents the height

of tower and QS represents the distance from
the house to the tower.

15.

(a)

(b)
(c)
(d)

RE-1031'MP’

T~ IANT FIOF ATH FET7H |
Write the name of angle of clevation of top of tower as observed

from the roof of the house. (N
TR 1 | 9A1 AMIAAH |

Find the value of TR. (1
o7 7 a7 faaa 3 o SmeEng

Find the distance between the house and the tower. (1)
mzmmqvmvshzvmhvmzummmaowh

At I TR, P FIS FEE
Is the angle of depression of 30° formed when the roof of the
house is observed from a point 28 meter below the top of the

tower? Give reason.

(1)

fremdt aongas wfem famaa S0 gmigwEr @ e ghumn
farardiwed oy wrE grenTEATE iAo TR 1 I TangEal wivTE

29 B

The given data represents the marks obtained by the students in an
intemal examination of Mathematics with full marks 50. The median of

the data is 29.

IS (Obtained Marks) 0-10 110-20 '20-30

30-40

40-50

AT AT (Number of studeats) | 3 | 7 i 10

X

10

() wiEeT Aol SeEE
Write the median class.

(b) x WIT YaT TMITRIA 4
Find the value of x.

(c) PRuaT qarEs TS TATEE T Fmeaar |
Find the mean mark of the given data.

(1)
(2)

(2)



(5)

RE-1031'MpP'

(d) 20 3¥FF W=T B T 20 A1 QIRT G AEH qreer Wik Fepardivgy
AT e e |

Find the ratio of students obtaining marks less than 20 and 20 or

more than 20. (1)

16. TSET SAISTAT 7 3T H0 T 4 AT AT SN T 9% TJAe® I | gaarer
qole® Ud Ui ol T T rdr Refruat &7 |
A bag contains 7 black and 4 red balls of same shape and size. Two
balls are drawn randomly one after another without replacement.
(a) 3 BT RS 3T AT AT ¢ P(B N R) FT Y7 w&eid |
If B and R be two independent events then write the formula of
P(BNR). (1)
(b) T grfaa qRUTHESST SRS 987 FerEwr 2@1’37@%( |
Show the probabilities all the possible outcomes in a tree diagram.(2)

(c) T T« T F I FRTSAAT IT ST |

Find the probability of getting both' black balls. (1)
(d) T T A I FHTAAT, T4 I HIOY G GEATIATART FiAT G860 AT
el B 7 99T TS erd |

By how much the probability of getting both red balls is more or
less than the probability of getting both black balls? Find it. (1)

-0-
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Afvard fvra

HT : 3 HE Uit : WY,

Rrsvar e smearear sret dsftar Rsfarer® Iae Ry

TX qye® Atard B | (Answer all the questions.)

FA MEH 120 WRYTAT TRCH GOy 70 YA FTHRF! FGAT T
50 TR TR AT T | 30 WYIA A FIH TEL ) THL T F
A T URYEEd! THgds HuM: HT A o SASTH B |

In the survey conducted on 120 households of a village, 70 households
are doing homestay business, 50 households are doing agriculture
business and 30 households do other work. The sets of household doing
homestay and agriculture business are denoted by H and A respectively.

(a)ﬂﬁézmﬁq&rwmﬁﬁra@mﬁm

HEHAAT AEToI | |
Write the cardinality notation of the number of households who do
not do any of the homestay and agriculture business. (1)
(b) WIS AAfoTAT TR TR |
Present the above information in venn-diagram. (1)
(c) USeT A FaqT T Ul 9@ fHaeery |
Find the number of households doing only one business. (3)

(d) ¥F FW T 10 WY AR AGqT & T I A BARE T

Y A T ORGP AT e |
If 10 households who do other work start home stay business, find the
ratio of homestay and agriculture business households. (1

T dgFaTE ©.2,00,000 KT TG 7% F1 R AINF THE ATTHT 7
hmlwmaﬁftmmv 2,28,980 SSHAT THITSA |

Ramesh borrowed the loan Rs.2,00,000 from the bank at annual
compound interest rate of 7% per annum. After some time, he repaid
Rs.2,28,980 including the principal and interest to the bank.

(a) THIA ATATA Hiq PHICS ? 0T TSTar |

How much interest has Ramesh paid? Find it. (D
(b) THI IIA A Bid BN AT TART TS ? T S {RIY |
For how many years has Ramesh used the loan? Find it. - (2)

HHI
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(c) afz =rerEr 1% & werl 9 W ke P #fa g 7 o

TSR |
If the interest rate is reduced by 1%, how much amount would be
paid by Ramesh? Find it. (1)

M A # gl AagEn 4500 T WS B #5000 B 1 WS A @I aiftE

AL g/ 2% G |
The present population of village 'A' is 4500 and village B is 5000. The
annual population growth rate of village A is 2%.

(@) T auufsar sHagen PT=P(1+%)TW P& GG
weTery |

What does P denote in the population after T years

Pr =P (1+--)™ Write it (1
(b) afe MI A @ 1 a9 qfg 200 ST SEEERE W AT AT 9,

1 a9l T9<ET Fid &l ? 9T S erd |

If 200 people are added by migration in the village 'A' after

1 year, what will be the population after 1 year? Find it. (D
€ aft MY A & IR WER WS B & FAGEA HAT 2 quy M
B %I HEET A g6 ! 99 TSR |

If the population of village B decreases by the same growth rate of

village A, what will be the population of village B after 2 years?
Find it. . ‘ (2)

frar arifaTaTe A9 ATEEr QAT 2500 MRS SO () fATR TR
WS | I 9T arder AR sk fafwraey e et o
@ftg T $1 = NRs. 127.35 T fa@ig? §1 =NRs. 127.95

When Rita came to Nepal from America, she brought 2500 American
dollars (8). When she came to Nepal, the exchange rate of American
dollar was as follows.

$1 = NRs. 127.35 buying rate and $ 1 = NRs. 127.95 selling rate
(a)%ﬁ%mwmmmmmhhmﬂmm?

TR |
Which exchange rate is used to exchange Nepali currency by Rita from
the bank? Write it. : (1

HHI
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(b) Gt SARAT WU AR geRArs AaTen FaAT AE O 35 FA

i ATl SHATrS AR SERHT AICET IANTS Hia HIFT AT "IeT

TG ? O AMNETer |l

What is the profit or loss for Rita if she exchanges the American dollars
into Nepali currency and then exchanges Nepali currency into
American dollars after two days? Find it. (2)

(c) W& BT § 1 = 3 12735 T A% 160 = wr.s. 100 Py s

Tier fom, 9 smuR wor e frafhear @

WP IURD TedAF o 6 fAex T 3Jer 9918 -
4T ‘

The diagram alongside is of a square based’
pyramid. Its each side of base is 6 “meter and

vertical height is 4 meter.

(a) mmﬁ&mm@m

(c)

WI.F. 1,20,000 7 Hfq o) e Afeprg ? Mapree |

On the same day, the exchange rate of § 1 = NRs. 127.35 and
NRs. 160 = Indian Rs. 100. How many dollars can be exchanged
with Indian Rs. 1,20,000? Calculate it. (2)

1
——>6in<—

Tl S 9 deerd |

Write the formula for ﬁndmg the area of all triangular surfaces of

pyramid. (1)
(b) S MITAEH AadT 9T TSR |

Find the volume of the pyramid. | (D

Rrafrea 1 qaea!. §aFhe Mareqard |

Find the total surface area of the pyramid. (2)

fesuar 3 awq |l T aier el S g | Qe
T QNATH ATHEE G G T 3 a&qepl ST
99Tg 17 9.f. T amurer = 10 .. )

Given solid object is made up of a cone and
hemisphere. The diameters of the base of a cone
and hemisphere are equal and the total height of
object is 17 cm and diameter of base is 10 cm.

(a) TR SAIE T AUATHR T AT |

Write the relation between height and radius of hemisphere. 1

(b) I I TRH T TGl SAhel TAT AMSTEN |

Find the total surface area of solid object. (3)



(c)

(¥) RE-1031'BP'

I 30 TG T giy 3 afefiet 40 T X @ anrdar
%.150 T g3 7 feama il aor Ry |

Will the amount of Rs. 150 be sufficient to color the surface of the
solid object at the rate of 40 paisa per square cm? Give reason
with calculation. (1

7. TS AUATER FETH w3 12 fee, =@ers 8 e T 913 9 Ree &
SHT BT 2.5 RRg x 3 Rpear gEaiter sAees T 6 Ree x 2 Reear g3
© e AFEE S |
A rectangular room has length 12 fi, breadth 8 ft and height 9 ft. There
are two windows of size 2.5 ft x 3ft and two doors of size 6ft x 2ft.

(a) <R P, 3 T fafasa) s= dawa faregerg |
Find the total area of four walls, floor and ceiling. (2)
(b) I QT A AR BT SR 3 RR 7175 #T w13 e

%. 50,000 =T Hfd FH AT G @ AvAT ? GAT AMS eI, )

How much less or more is the cost of coloring the four walls
excluding the doors and windows at the rate of Rs. 175 per square
feet than Rs. 50,0007 Find it. (2)

8. WWWWWIW(M)WW
AR fasl T w9 )

A shop sells shoes and slippers (in pairs) during winter season
according to the following table.

R (day) GG EELGEE GRS
(1* day) | (2™ day) | (3" day) | (4" day)] (5 day)

S{ATRl agET 2 4 8. 16 | .........

(No. of shoes)

qoqP el 3 6 9 12 | .

(No. of slippers)

(a) THATAT HAAT T U HEARTS TFY Heferd |

(b)
(c)

Write the relationship between arithmetic mean and geometric

mean. (1)
8 3ff Rere T T oqee® iader fasl TS ? Tl SNSRIy |
How many slippers are sold up to 8" days? Find it. (2)

8 3 feraer FashY SU@T ST ST T AWEd H&AT AT Tard |
Compare the total number of shoes and slippers sold up to 8"
days. _ (2)

ST
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9, UIEl AAATER AOmE aAhe 7 ufifufa wwem 150 a7 50 P &
The arca and perimeter of a rectangular field are 150 sq.m and 50 m

respectively.

(a) S9 WO Qg T NS FHd §W 2 o wfrEr 93 qen
FMSTR |

What is the length and breadth of the field? Find it by making

quadratic equation. (3)
(b) ST FTH THETE T AIRAE Fd AWEX AN UTIET AT

84 T PreR g7& ? &9 TR |

How much equal part should be subtracted from the length and
breadth of the land to get the area 84 square meter? Solve it.  (2)

10. (a) ;—f;aﬁxafruamammﬁqﬁmu

Write ;%5' in the positive index of x. (1)
T T (Simplify): a?_ | 4 2)
®) Pify): o5 ¥ 2b-a (
(c). & THEH (Solve): 4°2=0.25 (2)
11. fzuar =@t AE/ BD, ED // ACYBE //CD & | E

- D
In the given figure, AE/BD, ED // AC and
BE // CD. , \
(a) UIC IR T I FHMINR @RS a1 & / \
\ SO

AR e ¥ e &asa fassr
T JeTary |

Write the relationship between the area of parallelogram and
triangle standing on the same base and between the same parallel

lines. | ()
(b) gatfore @rq (Prove that): AABE = ABCD ()

(c) Fqer ABE ¥ €W (s ACDE &1 §rheiers e THer |
Compare between the area of triangle ABE and trapezium ACDE. (1)

B> C

HHIU
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12. g faawn, wea =fea @@ PQRS & |

13.

14.

WoT PQ @1 fag T o3 avAeUa B 1 - S
In the given figure, PQRS is a cyclic
quadrilateral. The side PQ is produced to the -
point T. P T
(a) ZPSQT ZPRQ # T¥=I S&erd | ~—
Write the relation of ZPSQ and ZPRQ. ' 1))
(b) ZSPR ¥ ZSQR =RTER §7S, HHT TATTERT THIRTA Tl | (R
3 .M. endeamw waw gEeiter aeee afrerd o)
Verify experimentally that ZSPR and ZSQR are equal. (Two
circles with radii at least 3cm are necessary) . (2)

(c) v mi—m{ (Prove that): ZRQT = £PSR (2)

.= PQRS AT PQ =5 @(.Fq., QR=453fw, RS=SP=6 ¥fM <

QS =6.54.f1. T

In a quadrilateral PQRS, PQ =5 cm, QR =4.5 cm, RS = SP =6 cm and

QS =46.5cm.

(a) WIS 9 AR I PQRS TAT TR X IR AHwH
AHEUT SRTEX g T TS Preret 9fr =T Ter |
Construct a quadrilateral PQRS according to the above
measurements and then construct a triangle which is equal to the
quadrilateral in area. 3)

) mmwzmmmmmv FR fE e |

‘Why the area of the quadrilateral and triangle are equal? Give

reason. : (1)
feraT TraRar 9=Tg (CD) 15V3 fex T e D
3915 (AB) 10V3 X & | &l gaare .

AP THMAT 82T 30° HT B T<H | | v
In the figure, the height of tower (CD) is 2300 155m
15v3 meter and the height of house (AB) is | B SEA
10V3 meter. The angle from the top of wIle

house to the top of tower is 30°. A

(a) WP BAAIE TERH THMAT gal d~
B FA THRD! BT 8T 7 AETord |
What type of angle is formed when the top of the tower is
observed from the roof of the house? Write.it. (1)

Al



(\3)

(b) ERH 9T DE A I T AMSAA |
Find the height of part DE of the tower.

(¢) W T erarfa=ast g fareter |

Calculate the distance between house and tower.

(d) U AMRETE T AT &G g+ BT G0 TSR |

RE-1031'BP’

(1)
(1)

Find the angle of the top of the tower from the basement of the

house.

(1)

15. TS FETHE 50 w1 faamdieed g faaasr 60 qUigEe! qemar ure
TR ITAEFHATE AT [FTr )
The marks obtained by 50 students of a class in an exam of maths with
full mark 60 are given in the table.

EISIEC 0 )
(Obtained marks) 10-20 | 20-30 | 30-40 | 40-50 | 50-60
feremdt wg@mn
(Number of students) 7 13 15 10 3
(@) I o =it dEEE
Write the class of mode. o (1)
(b) fezuar qaTgFare gfeal Iy (Q,) F1 AIF fHaTea |
Find the value of first quartile (Q,) from the given data. (2)
(c) Feguar TaTEFaE AET W<ISF T0ET i |
Calculate the average mark from the given data. @)

(d) 40 T 40 WRT TG TARF AN fqardleeal Awa wARE Fa

7 91 SR |

What is the average mark of the students who obtained 40 or more

than 40 marks? Find it.

(1)

16. TIET ATHTAT I¥ 7 & HHRET 5 AT W@l T 3 Aer Far a6ee®

@ B |

In a box, 5 red and 3 white balls of same size and shape are kept.
(a) TRERE MOU® HeaEEs! ararearel Ws Haw SeE |

Write the addition law of probability of mutually exclusive events.

(1)



(b)

()

(d)

B RE-1031'BP
AHYAT AR Feeeare THYIG, Abl TR Fealel aoee [H: AE!
Prar aren @ wenfaa ofvormeesr aearerarens ger fee
@RI | .
Two balls are drawn one after another without replacement from
the box. Show the probability of all the possible outcomes in a tree

diagram. (2)
g7 fergare g4 o el o graremar PR |

Find the probability of getting both white balls from. the tree
diagram. (1)

qd a9 T @l T arr@mﬁﬁwg%aaaﬁrqﬁwm
fererept W@ faTeqRIy |

Find the difference between the probablllty of both balls being
white if two balls are drawn one after another with replacement and
without replacement. | ' (1)

-0-
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* SEE 2081 (2025)
afard nftre

qHY : } HOer | quitee® : 9%
Rezuar FroraT Jrarar arF Sar Rydareqs aa7 lagelq

T IYE® AMHAT B | (Answer all the questions.)

450 ST AITEEEAT TRUST TIeT FIevmr 200 FAe F=am, 250 S
FRE A GRITCHT 91Z4AT | 50 AT 47 TEHA H 909 /9 GACA |

In a survey of 450 people, 200 people liked tea and 250 people liked
coffee. But 50 people did not like any of these two drinks.

1.

(a)

(b)
(©)
(d)

afe T C & oo MO T o 79 Wied Wideedl 99gdars

WSS, W9 n(TUC) &1 MUATcHSAT &Ry |
If T and C denote the set of people who like tea and coffee

respectively, write the cardinality of n(TUC). (1)
AP AFHRIATS ST TR T |

Present the above information in a Venn diagram. (1)
feram AT AT WIS AIUEEE! qEEl Il ASere |

Find the number of people who liked tea only. 3)
Pﬂmzmﬁﬁ@mwmmtmﬁ?mmw
AT qgEmeas e TR |

Compare the number of people who like both tea and coffee with
the number of people who like coffee only. - (D

Ww%«mﬁzaﬁmmﬁmwﬂmaso,ooomam
&1t 8% Ui aUeT TRl I8 T T TR, |

A farmer deposited Rs. 50,000 in a co-operative for 2 years to get the
annual compound interest at ‘the rate of 8% per annum.

(a)

(b)

©

eI Sfiwar AT CF U1 R e AT AT RS 2 Tegery |

How many times the interest is calculated in the quarterly

compound interest in one year? Write it. (1)
mzmmmﬁrwmmmm?w
TSI |

How much annual compound interest will the farmer receive at the end
of 2 years? Find it. (2)
T AR I AR T FaRST AT afew A e g
TSR - Fi qel 876, 7 Il TS Tery |

By how much the semi-annual compound interest is more than the
annual compound interest of the same sum at the same rate and for the
same period of time? Find it. ' (2)

: U
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wSer frgdia a9 €.45,00,000 A R T2 AU q@@ WUnTETe

31200000 WWIWWW 10% FT 7 39 A5G, |
An electric Bus is purchased for Rs.45,00,000. Using the bus for
2 years Rs.12,00,000 is earned. The value of the bus depreciates at the
rate of 10% per annum.

(a)

(b)

afe q@@ qoadl qe Vo, qMM® g9 R T F8@@ T a9uigs g1
Vr T V&8 Vo, R T &1 SIAT A€ |
If the initial price of bus is Vg, annual rate of depreciation is R

- and price of the bus after T years is Vr then express Vr in terms

of Vo, Rand T. (D
qfedl 9UHT 99D Tod FHiad °ea, ! Il dSTee |

How much the price of the bus is depreciated in first year? Find

(1)

uﬁzmﬁrwhﬁmmmmmmw
T8 ? I ASeid |

If the bus is sold after 2 years, what will be the percentage of
profit or loss? Find it. o 2

Al fader srepr it SR SR WIS 4S% MG | 6 fe 1 SR (9)
&l @R X %.138.23 T fasr 37 %.138.83 far | :

Nabin went to bank to exchange American dollars to visit abroad. In
that day the buying rate of 1 dollar (§) was Rs. 138.23 and selling rate
was Rs.138.83.

(a) aﬁzwwhaﬁﬂmaaa? Tl STy |

By how much the selling rate is more than the buying rate? Find it. (1)

(b) *rARFF TR 500 T FhT JUN THAT A WEE, 7 T

TSR |
How much Nepali rupees can be exchanged thh American dollar
500? Find it. (2)

(c) wer feafg 1 Sere fasreR %.139.80 &6 W9 AU R &

IO AT WS ? Il TSTar |

_ After'some days the selling rate of dollar 1 becomes Rs.139.80 then

by what percent the Nepali currency was devaluated? Find it. (D



(3) _
5, T WER WU TGar frifweswr aEr wend
12 &.ff. T AR s 10 1. S

The vertical height of a square based pyramid’is 12
12 cm and its base side is 10 cm. 1=
(@) T IMER ATHr RrafreAr wfaeer ﬁ'ﬂmﬂﬂ'{
IqEe® §rol, ? JeTRiy |
* How many triangular surfaces are there in a
square based pyramid? Write it. (l) Tocm]
(b) F FRITAE®T JRaT T SIS e | ' L
Find the volume of the pyramid. 2)
(© W RRITAS® R Gaies! Sahe TaT ST |
Find the total surface area of the pyramid. (2)

RE -1031'GP'

6. FeIua f‘iﬁm q@el 3W IR FAW '
AT HOHT AT T Gl el aear — A1 7o, -
B | 9K 3 FEAT AR WRTH! () < (

T g 28 AT T T AT TS 99
17 €91 & | 99PR. ARTRl AWaq |€—28cm —
5632 °9 4.AT. B |
In the given figure, a combined solid object is formed with the
combination of cylinder and cone having same radius. In the solid object,
the length of cylindrical part is 28 cm and the slant height of conical part
is 17 cm. The volume of the cylindrical part is 5632 cubic cm.
(a) ST 3 TRS AUR FKT ATERD G ? A€ |
What type is the shape of the base of solid object? Write it. - (1)
(b) Wl ARTRT TG T JAARR ARTR AHTS AT TR |
Compare the height of conical part and the length of cylindrical
part. 2
() mmmﬂmwmwmmqﬁrwa? @
AT R0 QR e | .
Is the volume of cylindrical part five times the volume of conical
part? Justify with calculation. o (1)




8.

(a) T HIETH IR TG G TSN | .

(¥) RE -1031'GP'

. TSl TAaFR ST TTE, derg < 9arg wAw 1217, 8 13

S | T B 2 M. REART SO gEier aTieR EEee g, T I8
1.5 x1 M & @ g

The length, breadth and height of a rectangular room are 12 m, 8 m and
3 m respectively. There are two square windows with edges 2 m and a

door of size 1.5 m X 1 m in the room.

Find the area of the floor of the room. (1)
(b) wzmmmmmmmmzm

qiaert fHeY €.15 B RS @ TN HiT @ a78, ? [Febreqere |
How much does it cost to coloring the four walls and ceiling of the
room excluding the ‘area occupied by the windows and door at the
rate of Rs.15 per square meter? Calculate it. 3)

3 X 27 @t fq=mr 7 9e1 qUMd HeEEE® o |
There are 7 arithmetic means between.3 and 27.
(@) a ¥ b (=T FHATAT FHAT MEHTed T A& |

Write the formula to calculate arithmetic mean between a and b. * (1)

"(b) feguepr srgmwa 5 aﬁmmasferm?qﬁrmmgﬁm

What is the 5™ mean of the given sequence? Find it. (2)
() 3 127aﬁaﬁmﬁmﬂwm?quﬁmmmzﬁfaﬁma?

EEUREGEEY

Which one is greater by how much in arithmetic mean and

geometric mean between 3 and 27? Compare it. | (2)

9. WWWWTWW 44&&?120371&?(_

ESq
The perimeter and area of a rectangular ground are 44 meter and
120 square meters respectlvely

(a) T THHRT ax? + bx + & = anbOWﬁﬁ‘q'ﬁ“@Iﬁ?{I

Write the formula to solve the quadratic equation

ax?+bx+c=0,a+0. (1 .
(b) IRSN T T HNSTE TAT TSR | - |

Find the length and breadth of the ground, . (2)
(c) IRPI THEEAE HAW FMER aAINET 74f wiRay &6 &

maﬁmmm?wmmml

"If the ground is made a square by reducing the length side, by
what percent the area will be increased or decreased? Findit.  (2)

SHAT



10.

() RE —1031'GP'
(a) ¥ TR (Simplify): -+ = )

(b) & TER (Solve): 2% + - = 27 3)

2

'11. fegws Femr EC//AB, DA//CB X

12.

DF 1 BC & | E D C

In the given figure, EC//AB, DA//CB

and DF L BC.
(a) q:-x% AR T Fol GAMIR WS o=
WHE e T IAMR Tl dashe A > B
fererept W SETRIR | '
Write the relation between the areas of triangle and parallelogram
standing on the same base and between same parallel lines. (1)
(b) 3 BC=64.f. T DF =8 4. IT AABE %1 &ther Tw1 NS |
If BC =6 cm and DF = 8 cm, find the area of AABE. (2)
(c) fesuar fa=wr afe AAOB @1 &Fwe T '
ACOD @I &% aXTeR G 97 ADIBC A b
o HAT FHITT Tard |
In the given figure, if area of AAOB and 0
area of ACOD are equal, then prove that N
ADIIBC. (2) B C -

fesqdr Fsm O qael @wafag ¥ PQRS TSel
EIET %@ﬁ Gl
In the given diagram, O is the centre of the circle
and PQRS is a cyclic quadrilateral. P
(@) ZQRST Fegad £LQOS fa=rar I el | s
Write the relationship between ZQRS and Q
reflex ZQOS. (1) DN
(b) 3¢ ZQPS = 46° WU £QOS F A T
l .
If ZQPS = 46°, find the value of ZQOS. (1)
(c) ZQPS+ ZQRS = 180° &5 ST+l TANTERT THITCT T{oI |
(G am WWWWWWWMU
Verify experimentally that: ZQPS + ZQRS = 180°.
(Two circles having radii more than 3 cm are necessary.) (2)
DHAT:
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13. (a) MN =8 %4, NO =7 &.f..T ZMNO = 60° 7q@t AMNO &I =

nﬁﬁmmﬁmmoﬁmwﬁmmmqk
W i AT TR | .
Construct a AMNO in which MN = 8 cm, NO = 7 c¢cm and

ZMNO = 60°. Also construct a rectangle NPQR equal in area to
AMNO. 3)

(b) AMNO?WNPQRW@HW&F[WW?WEWI

Why the areas of AMNO and the rectangle NPQR are equal? Give

the reason. (1)
14. feggar Fem, 30 frex srell ooer W (AB) &, A H
THEE TSl X (CD) & SIATHl qHia v
(ZHAC) 30° 8 | W™ T eig=ar U
(BD)—IO\/— e 8 30 m ,
In the given figure, from the top of a tower eF- C
(AB) 30 meter high, the angle of depression |
" (£ZHAC) of the roof of a house (CD) is 30°. l
The distance between tower and house 1 _r
. - B—10y3m—D
(BD) = 10v/3 meter. ‘ _
(a) ST PIOTHN IRATAT AeTRiy | : -
. Write the definition of the angle of elevation. )]
(b) ERST BIFATETE THIHN THH IHAT B BT g6 ? AETerd |
What is the angle of elevation of the top of the tower from the roof
of the house ? Write it. - (1)
(c) ERH ST T AMSTaIY | :
Find the height of the house. (1)
AE =EC 9T# 3wl ZCAH B 7N %1% g4 7 Wﬁﬁﬁ’fﬁl

15.

(@)

What is the value of ZCAH when AE = EC ? Give reason. (1) .

amnswwmsowﬁmmw&mwmmg

fesqa! & |
The marks obtained by 15 students in an exammatxon with full mark
50 are given in table.
AT<ig® (Obtained Marks) | -10 10-20 20-30 | 30-40 |40-50
fermdt wg@n
(Number of students) 5 3 4 - 2 1

(a) TR ST Shee T Ty o7 e |

Write the formula to calculate the first quartile of continuous series. (1)
S HI
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(b) RezTer qremTewa! Wi ST T TS |
Find the first quartlle of the given data. . (2)
(c) fesuar TaasEs TAF hmqa’ﬂt |
Calculate the mean of the glven. data. (2)
(d) W= g8 dF W T siead faadeesr I Fiq g
FHRGH ? T aMSeiy |
' ‘What could be the maximum number of students who obtained
. more marks than mean? Find it (D

16. TIET SHISTAT 7 31eT &1 T 4 e a1 I T 97 aoe® o | g8 3rer
. TE® UhUTg bl TR T Adl Rfeusr g |
A bag contains 7 black and 4 red balls of same shape and- size. Two
balls are drawn randomly one after another without replacement.
(a) 3 BY RTE AT HeAE® 9T P(B N R) HT ¥A w&Tor |
If B and R be two independent events then write the formula of
- P(BNR). - (D
- (b) ﬁwﬁammwhﬂml .
Show the probability of all possible outcomes in a tree diagram. (2)
(c) T4 I FIET A I FPATAAT I MG TRl |

Find the probability of getting both black balls. . (i)
(d) T¥ 9 R T GRS, §F A FI T QAT W R a9
ar U G 7 g9 ASerd |

By how much the probability of getting both red balls is more or
less than the probability of getting both black balls? Find it. ~ ~ (1)
-0- .
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SEE 2081 (2025)
Afard e

qwg : 3 " QUITEF : &y,

RegaaT Frdoraer SmareAT ATt didtar Rrdf@renss gav Rahy

¥ qYAe® AfAard B | (Answer all the questions.)

1.

TS faaEaa ST TN yegeta famdirears e ¥ ST
TN ST N THIAT A IIGH &8 T TRCF FAEOTAT 60 ST
THER, 40 T st T 20 97 faardieea g3 39 SUgHE & 9y
T 10 T A7 TEWT F 9 39 IIGH g Fai |
In a survey conducted on the students studying in class ten of a school
to determine suitable place for educational tours to Janakpur and
Birgunj. It was found that 60 students considered Janakpur,
40 students considered Birgunj and 20 students considered both places
suitable but 10 students did not consider any of the two places suitable.
(a) ') T 'B' 9 HHM TR ¥ faere IE g8 W faardieear
TMUTATCH T HS_EF-HR! o Ejﬁlﬂ |
If')' and 'B' denote the set of students who prefer Janakpur and
Birgunj respectively. Write the set of students who considered as

both places suitable in cardinality notation. (N
(b) wigE FTAFTAETS AATTTAT IR T |
Present the above information in a Venn diagram. ()]

(c) S Faarerawr Fen T Fa a1 faardieE 9uIgEeE w@ed ¢ T
TIMSTRTH |
How many students are studying in class ten in the school? Find it.
3)
(d) afR Fdenm F 9 o9 I AR a@ngE 10 w9 ey
THI AR |
If 10 students who did not consider any of the two places suitable
had said Janakpur as a suitable place, then what would be the ratio
of students who consider only Janakpur and only Birgunj as the
suitable place? Find it, (1)

KX
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afrerer $.2,00,000 =it 10% 6T SATSTETT TIEr SZHaT 2 TUBT AT

T RS |

Anil

deposited Rs.2,00,000 in a Bank at the rate of 10% p.a. compound

interest for 2 years.

v (3)

" (b)

_(©)

Juifass ThIg =TS 99T AT qF TEfRr |

Write the formula for finding quarterly compound interest. (1)

A 2 9YHT Fid IS T AT IICSHA 7 TAT AMSTEA |
How much annual . compound interest did Anil receive in 2 years?
Findit. #2000 (2)

afy FEar G AEHT AINF ARRT AR GESTAT  AdAIgE
ﬁum&mwmmﬁraﬁmmﬁm g
If the bank provides the semiannual compound interest instead of

the annual compound interest at the same rate of mterest, how

much more interest would be received by Anil? Find it. '3132 22 A2)

Ugel ATRYIARTR! sl aa9ge 20,000 & T eldl aids waaser

3igex 3% & |

The present populauon of a municipality is 20,000 and the annual
population growth rate is 3%.

/(a) uﬁmmptmmkme ERL ]

v ®

(©)

Py 9T SIS qF A€o |
Write the formula to find the population Pr after T years if the
initial population is P and rate of annual growth is R. (D)

2 quqfy IFT RGNS ATHIEAT FId g ? TAT ST |

What will be the population of municipality after 2 years? Find it.
(1)

& TG gig T FHT TSI AT GiHAT T A 7 ATHAT

e e | |

Is the calculation process of population growth and compound

interest same? Give your opinion. (D

228 B
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Whﬁﬁﬂmaﬁmwmﬁmw(m)m
7.%.136.04 Rrar |

According to the money exchange rate of certain time, one American
dollar (S1) was equal to NRs. 136.04.

(@) 7320406 T FHa kA T ($) WA FFW ! qw

TSR |
How many American dollars (§) can be exchanged with NRs.
20,406? Find it. 1¢0 (1)
(b) AUl WETAT 2% & ¥R g2 aAfE IWR 2,500 €W Ha
AqTeT St IS FiF 7 T AMS R | )37.9608
How many Nepali rupees can be exchanged with American
dollars 2,500 when Nepali currency is devalumed bg 2%? Find it.
(2)
(c) mmmmmz%mmwm
TER 2500 QIEET Fa FH a1 F& AU gt gy T i
T Ay |
If the Nepali currency was revaluated up by 2% mstcad of
devaluation, how much less or more Nepali rupces can be
obtained while exchanging 2500 American dollars? Find it.  (2)

T YR AU RRiTASS ST 9% 24 i 7 AR @ T
14 3./ B

The vertical height of a square based pyramid is 24 cm and length of
the base side is 14 cm.

(1) S% frifwesr w@er PR AR GEWH TN SWSA qF

AeTerq |

Write the formula to find the area of a triangular surface of the

pyramid. (M
(b) ¥ Rfa=®r smgaw qar SRR | o

Find the volume of the pyramid. (2)
(c) I R Q@ qaed! Aawd g1 AS e |

Find the total surface area of the pyramid, (2)
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6. Poon @) @ deen efy waad S aw feguan v

A solid object made up of a cone and a cylinder 25
is given in the figure, o
(n)  frguay S weepn afsha aa waeee [ o -
o l."l:m?{ i ' 2 o0 N
How many curved surfaces are there in 32
the given solid object? Write it. (1) 5 i
(b) #efra Fwre qen I | |
Find the height of cone, (1) Q)\/
(¢) A 7 qFANA AR e wHE |
Compare the volume of cone and M em
cylinder. (2)

7.  USE AMATER FETHSE q94Erg, Weg 7 39 mae 18 e, 14 ftee
7 10 fve 87 | ST TR 6 R x 4 fee am A R
e 7 6 fRE x 3 fFe @1 gduirer dmes a7 )

The length, breadth and height of a rectangular classroom are-18 f,

14 fi and 10 N respectively. In the classroom, there are two windows
with size 6 ft X 4 ft and two doors with size 6 t X 3 A1,

(a) TF 7 WA ARSE Iwa Femar@l A) fawr v fafagmar ofa
THFEET 7,40 FT TG T3 AT FT T AT, 7 G0 AN |
How much does it cost to paint four walls and celling of the
classroom cxcluding doors and windows at the rate of Rs. 40 per
square feet? Find it. 3)

(b) 1z & w1 Gewa uw Frwn e 202 Fifeew @ amde aH
TH TATEISINT FE AT GRS 1T @S W Ha 7 ang 7

qd FIMSTEr |
If a painter paints 202 square feet in a day, how many days will
two painters take to paint the classroom? Find it. (1)

g, w3zl "uErAay A afier 97 7 ufkw 9F wE 5 T 329 B ) 99
qZEES] TEE 4676 7, |
The first and last terms of an arithmetic serics are 5 and
329 respectively. The sum of all terms is 4676.
(a) HHATANY ANTHT W AAFT & ¥ 1 GG |

What is called mean in arithmeltic series? Write it. (1)
(b) T4 ANTET HUIA vt qHT AIAH |
Find the common difference of the scries. (2)

HH

().

10.
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(c) SH FUH dAThe 51 TS TAT A9 ggried HAUE] UTEE
TS T8 ? fewma 4 g1 ARy |
How many terms should be removed from last in the series to
make the sum 51? Find it by calculation. (2)

9. %8 ATHA Al USET UATHS HIEAHT AgFeedl Uhd 27 & | I
YEEATETE 54 ULTSN Hi GLRATH AgFaechl T Ffda |
In a positive number of two digits, the product of two digits is
27. When.54 is subtracted from the number, the places of the digits are
interchanged.
(@) afT g5 ATHA q9H IS 10X + y Iq AZFEEDH WM qRad war
I AT e |
If the two digits number be 10x + y, then write the number
obtained by interchanging its digits. (D
(b) feguar mias guEER TP aF TR FArS iy |
~ Make a quadratic equation from the given verbal problem. (2)
(c) S+ ITEAT TAT AMSTEr | . .
' Find the number. (2)

| ) o a3+1 a3-1
10. (a) T TR (Simplify): ———+ ———

(2)

(b) & I (Solve): 5° + SL" = 5-;- (3)

LI 371 P APQR, HAMINR Iqwes s T
PQRS ¥ PQTU T3¢ MR PQ T S& >
AR W@e® PQ T UR & fa=mm '
el S |
In the adjoining figure, APQR,
parallelograms PQRS and PQTU are —
standing on the same base PQ and P <o Q
between the same parallel lines PQ and ¥
UR. :
(a) TATAR TS PQRS T PQTU F1 &rthet Forerahl Wl SIeere |
Write the relation between the area of parallelograms PQRS and
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(b) Frger PQR 1 &awe AWM I PQTU &1 &%a#T 41T 73

AT JHIOTd TR )
Prove that the arca of APQR is half of the area of parallelogram
PQTU. (2)

12. feguat faam, O quar Fw=fag &1 1 W@, #=a
FT AOC TR 140° % |
In the given figure, O is the centre of the
circle. Where, central angle AOC is equal
140°,
(a) uftfireror ADC 7 919 ABC fa=rat svar
eI |
Write the relation between the inscribed
angle ADC and the arc ABC. (N

(b) FeguEr Faare ZADC #r 99 91 AR |
Find the value of ZADC from the given figure. (1)

(c) =fwa Iqs ABCD &1 wwp@ #vies ABC 7 ADC ofr7# g7
T yirmens fafiare gmfora wER ) @i 3 8.6 e
TUF F2ATET JAeE ATY0F B 1)

Experimentally verify that the opposite angles ABC and ADC of
cyclic quadrilateral ABCD are supplementary. (Two circles with
at least 3 cm radii are necessary.) (2)

13. (a) T AT=44 4., AC=5.58.M. 7 ZCAT =60° 77 Fn{&r CAT
1 = TG S e awEw dawa g4 w9 Brqa BAT @
T TR | SR, AB=6.29.07. 3
Construct a triangle CAT having sides AT =4.4 cm, AC =5.5 cm
and ZCAT = 60°. Construct another traingle BAT whose area is
equal to the area of the given triangle, where AB = 6.2 cm. (3)
(b) ACAT TABAT @1 &1 A%d & awrew WU 7 &wrvr B |
Why the area of A CAT and A BAT are equal? Give a reason. (1)
(c) a7 @wET=R I ROSE w1 w@me= ES 7 ER &1 4 fa=gs
FHI P 7 Q B W9 ywiivra TR : AROP = ASOQ.
In the parallelogram ROSE, if P and Q are any points of sides ES
and ER respectively, prove that: AROP = ASOQ. (2)

HHT.
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14, s Fawn fasidrer @ (PQ) &1 3918

15.

18

faez @ 1 SQ & wifrw 7 fasidra avan faaad
g 758 | A, LPRT =303 R 1
In the given figure, height of the electric A Tl
pole (PQ) 1s 18 meter and height of a man v o \L

frzT 7 a3er wf s (RS) &1 I91% 15 ‘:r
g

m

(RS) is 1.5 meter. SQ represents the S
distance between electric pole and man,

where ZPRT = 30°,

(a)
(b)
()
(d)

I FIOrErs qeAiaa TR |

Define the angle of elevation. (1)
PT @1 WA T6 ®TSRIH |

Find the value of PT. (1)
FarsgeiTerT @ 7 Wi farsrarn i1 9T AR |

Find the distance between the electric pole and the man. (1)
PT 7 TR a7Ta7 9¢ S=anvt &1 &fa Bda &% @1 a1 7=3 7 o
AR |

By how many degrees will the angle of elevation less or more
when PT and TR are equal? Find it. (1)

50 geigFF uzer gframn 20 W famdiwes orE nen waF e
ateaTa fZeuat @)

The marks obtained by 20 students in an examination with full marks
50 are given in the following table.

YTATZF (Marks obtained) 0-10 | 10-20 120-30 |30-40 !40-50 |
1

faardl J£@7 (No. of students) 2 3 4 | 7 4

(a)
(b)
(c)
(d)

freuaT Aomzaadt fia 94 A9 AFE |

Write the modal class of the given data. (1)
freua1 AongFare "idd I TEAA |

Find the median from the given dala. (2)
Fra1 AvATEEATZ HA JTATEF AT THATH |

Calculate the average mark from the given data. (2)

HFZA ¢ T AWM |
How many maximum number of students could be there who
obtained the marks less than the average mark? Find 1t. ()

FAA
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16. & Rfeuar 52 afd ATE@ TEEEATE Tod FA gF AT aMRE UF uiS
I T [ R RiFTET B |
Two cards are drawn randomly one after another without replacement
from a well shuffled deck of 52 cards.
(a) afz P(AN B) = P(A) x P(B) €41 A ¥ B & UTARE TaT

ey |

If P(A N B) = P(A) x P(B), what type of events are A and B?

Write it. (1)
(b) TRUE T4 T AU WS ORUTHEEH qEAEAAErE et

TENTRY |

Show the probability of all possible outcomes of getting and not

getting king cards in a tree diagram. (2)
(c) X4 ATHEE ATCYME I YrRATHAAT TaT NS Terd |

Find the probability of getting both king cards. (1)

(d) & I AW TP TR I GEATAAT AT §6, | R fERry |
Is the probability of getting both ace of diamond possible? Give
reason. (1)

-0-
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RE - 1031'KaP'
.\'-‘.\0'*\'/ SEE 2081 (2025)
CASE -
THY @ 3 OO A qufrem : oy

fegvar Fdrer smarear set diar Resfarone o Reig -

T YYAEE AT @ | (Answer all the questions.)

uaer fquremdl Far e 100 s faendiwe 60 e agiem
50 A TRTE WA UG | O) 20 ST 41 gEwer v ufq faug we
RIGAA | SIS0 A9 WeA T T 7 Wreq faardieea e
FHW E' T'M' & SARE S|

Out of 100 students of class ten of a school, 60 liked English and
50 like mathematics. But 20 did not like any of these two subjects. The
sets of students who liked English and Mathematics are denoted by
'E' and 'M' respectively.

(a) TEHA & giv faaa w9 awed frndeser wEars wAeTsar

ATHTAT TETAIH |

Write the set of the students who did not like any of these two

subjects in the cardinality notation. (1)
(b) 34 faum w qwreq faardt wgemens « e fREuar SMEdeTg e

FerTAT 9=ga e | ’

Present the given information in a Ven-diagram assuming x for the

number of students who liked both subjects. (1)

(c) TS AT fauag 7 e faandieest g gur amsey |
Find the number of students who liked exactly one subject. 3)
(d) Rk TEw w4 9 fawg w9 qwen faardier @gEm 30 woa
ga@rdr 34 faag 97 wew faandt e & sEw g 7 g
STy |
If 30 students did not like any of these two subjects, what will be
the effect in the number of students who liked both subjects? Find

it. (1)

yreTerEd €.1,00,000 USET A@wr e G | g afie 8% W
AT At afed = )

Aashlal deposited Rs.1,00,000 in a bank. The bank provides 8% per
annum interest compounded semi annually.

(a) Tt T T PR T Segd | .
Write the formula to calculate annually compound interest. )

- amagiagl



(b)
(c)

(R)

RE - 1031'KaP'
2a¢mmmﬁmﬁrwmmnﬁmv T G |
How much interest does Aashlal receive in 2 years? Find it. )

iy ASHA A AR T qEAT At s are fRuar g
IAETE FHiq BIZET 41 °IeT g7 99T 7 9T Ae e |
If the bank provides yearly compound interest for same rate and

same period of time, how much would be profit or loss for him?
Find it. (2)

TS MEH TELEr 10,000 B | AiiE TwEgEn e 4% &1 W
MSATE ufewl queT AT 100 FAT HIHE a918 IR d0F TS |
The population of a village is 10,000. Annual population growth rate is

~ 4%. At the end of first year, 100 people migrated from that village to
other places.

(a)
(b)

©

Find the population of the village after one year. (1)
gig AT 99 Bler Ui a915 A 99 2 F99ts 97 TS TaaSen
Hiq [T 7 9T TSR |

If nobody were migrated in second year, what would be the
population of the village after 2 years‘7 Find it. (2)
gfg gfger ad FET GUE TOH I 2 qUAT g TA9SET gighn
HAA HIF TAT ? T TSI |

If nobody was migrated in first year, what would be the
difference in population growth in 2 years? Find it. (1)

T TG AgHepT WA faHT R AR F9 feAer | sl e’
TEX 7.3, 138.83 faar | FEr el AT {1 SOEHT qA9THT 2% o
AT qTF |

According to currency exchange rate_ of Nepal Rastra Bank,
1 American dollar equals to NRs. 138.83 in a day. Nepali currency was
devaluated by 2% in the comparison of dollar after some days.

()
(b)

ot fafwa e & & 7 SeE |
What is called currency exchange? Write it. (D
I A FARET SEX($) 1500 W Fd AT WA qfepra ?

T AMS eIy, |
How many Nepali rupees can be exchanged with American
dollar (8) 1500 before devaluation? Find it. (1)



(c)

Fersrar, Qe ot R waaT Rafeen
AH=2639.M.T AD=243.f. B |

~In the square based pyramid given in the
figure, AH =26 cm and AD = 24 cm.

(a)
(b)
(c)

feguar e a@mm T apevien fafer aer qer 99w \
3 FEIHN &1 | Ih SR @@ 9= 17 4 ¥ /
ARG qiRfr 44 F.67. &

S RE - 1031'KaP"

AT 9 7.%.7,08,033 F Fiq ARk SoR AeA qRFg 2 T
LRI |

After devaluation, how many American dollar can be exchanged
with NRs. 7,08,033? Find it. : -(2)

HD ¥ EF & % & |

Write the relation of HD and EF. (1)

EF & A9 fA&eeiq |

Find the value of EF.

St RIS [T dedl §ahd Malelerd, | .
Find the total surface area of the pyramid. (2)

The given figure is of a combined solid object 17cm

made with the combination of cylinder and
hemisphere. The total height of the solid is 17 cm  J—oo=u>N

and circumference of the base is 44 cm.

(a) S AR A et g7 deterd |

Write the formula to calculate volume of solid object. (1)
(b) PR ARTHN AT Fa &7 7 0T TS erd |

What is the volume of hemispherical part? Find it. (¥3)
(c) o= T Y T e ey o ey |

Compare between the volume of cylinder and hemisphere. 2)
50 x 1 x4 W& @ amaer g gia fwex 50 e
7 9T ARTH G |
A rectangular tank of 5 m x 1 m x 4 m is filled with water at the rate of
50 paisa per litre,

() §T TATEAT ARGE gy 20 TRERATS SRER IRETET FigE @

AfeTenE T8 9 q9er IRaRe T quEn e wa @ fadie ?
qdT S 6 | .

The water containing in full tank is enough for 20 families
distributed equally for one month. How much cost ‘of water should

one family have to pay in one year? Find it. (3)
FHHA
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AR STHAT BT TS a5g, 7 o mnva—a‘mi
If length, breadth and height each of the tank is increased by 1 m,
by how many times the capacity of tank is increased? Find it. (1)

RGeS (M qIHAPTAT IETETH B |
The number of words learned by a child daily in the double than
revious day is shown in the following table. -
ﬁ,:a- (Day) ]ﬂ znd 3rd 4lh
=g - g1 (Number of words) | 3 6 12 |24
(a) T=A B ATHIAT = [Afeheal & 7 degerq |
In which sequence is the child learning words? Write it. (@)
(b) T a=aT™ 8 A femawrAr Ffg W MEEH ¢ qF TENT T 9w
S Terd. |
How many words does the child learn upto 8 days? Find it using
formula. (2)
(c) ===l &ia faror s+ 6141 wex Faaa 7 o e ery |
In how many days will the child learn 6141 words? Find it. (2)
[ ASHS aqP T3Sl UE@N A9H JLHeed Jhde] AR T I
HIHEEH! TOAHD! A O 3 | \/
A two digit number is four times the sum of digits and three times the
product of digits.
(a) TFH WHF ATF y T 9P WD AT X AC IW TZ AThb(
LTS fasiTdg S AT Fegerd |
If one's place digit be y and ten's place digit is x, write the two
digit number in algebraic form. (1)
(b) FUHr T FER x BT IGAT T FHGO FAGTRI |
Make a quadratic equation in terms of x according to given
conditions. _ ()
(c) % gg&T I TSR |
Find the number.

| C
(a) e TR (Simpliy): 777 — \Z;

b+1

(b) & TR (Solve): 7% +77F =73
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WWAPQ?BPQEG%WPQ —
T & IR Y@Es AB < PQ # A A > 8
z%a?r o |
In the figure, triangles APQ and BPQ are
standing on the same base PQ and between A q

the same parallel lines AB and PQ.
(a) Pt APQ X P{s BPQ 1 SIAwier=iah T3 WeTerq |

Write the relation between the area of triangle APQ and triangle

BPQ. (1)
(b) afe AB T PQ fa=rar awa gt 8 ./ T AB = 10 .. I w7 AAPB

H AR [HPTearyg |

If the perpendicular distance between AB and PQ is 8 cm and

AB = 10 cm, find the area of AAPB. (2)

12. 31 Qs PQRS AT PQ = 5.1 &.f7, QR =7 A, RS = 4.6 4.,
SP=5.4 .M. T QS=6.6 .M. fegws s
In a quadrilateral PQRS, PQ = 5.1 cm, QR = 7 cm, RS = 4.6 cm,
SP = 5.4 cm and QS = 6.6 cm are given.
(a) AIPIPT 9 AR I PQRS N TEAT TR T AHAR
SARAUT AT G T4 TS Perepr =T e |
Construct the quadnlateral PQRS according to above measurement
and then construct a triangle which is equal to the quadrilateral in
area. 3)
(b) uwmﬂﬁmﬁﬂﬁzwmhﬁmm? BRI
fegere |
Why the areas of triangle and quadrilateral so constructed are
equal? Give reason. (D

13. fer=rm, WWOIABDCWW
T &l |
In the figure, O is the center of the circle and o
A

ABDC is a cyclic quadrilateral.
(a) Fa@1 TSe WA I ARy o Forsr
T F §0 ! TR |

What is the relation between inscribed angles

standing on same arc of a circle? Write it. (1)
(b) afz affiar BAC =35° 8 W ZBOC &1 I Tal SIS eI |
[finscribed angle BAC = 35 find the value of ZBOC. (1)

S HIT
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(c) af% =7 BDC T =9 ACD &R @ M WA ey : AB/CD. .

If arc BDC and arc ACD are equal, prove that: AB //CD )

(d) £BAC T ZBDC #\ige TREF §S 91 Famer fag ey |
(=T 3 .M. nfery woE 8 9UeE ATaNEd S l)

Verify experimentally that ZBAC and ZBDC are supplementary.

(Two circles having at least 3 cm radii are necessary.) (2)-

14, feaeley S=E 122 M g | oA BT AT geel wednwT faarerd

15.

Wt 36 M. SRare famerg wadl @ dFerea wat 30° H1 HI0T qUE |

The height of Himali is 1.22 m. She observed the top of the school

building standing 36 m far from the base of school building found the
angle of 30°. '

(a) fezuar W=t R Reweler faaed wEwer W g aAer

PIUATS & T ? TEE |
- What is the name of the angle found when Himali observed at the
top of school building according to the given context? Write it. (1)

(b) WIUHT A ATARDI Fa FATSTard |

Sketch the figure from the above context. (1)
(c) Taamer s I=Tg fAeprege |
Find the height of the school building. (1)

(d) faarerg wawar T &=F 60° F HI FATeA [eWel I& AR
Fia frex afas a1 erer feg 9@ ¢ FRW R
How many meter should Himali have to walk nearer or farther

from that place to make the angle of the top of the building to be
60°? Give reason, (1)

03T faaregeat 300 s faardier S#7 arfiremar feguar & 1
The age of 300 students of a school are given in the table.

JHT qUAT (Age in years) 0-4 | 4-8 |8-12 [12-16 [16-20
No. of students (fa=m4t wgem) | 50 65 75 | 60 | 50

N_
(a) feelt T (Q) =L + 1L x a1 o.f, 7 & I 7 AR

f
N

What does c.f denote in the first quartile (Q,) =L +-?—-fc—°f- Xi.

Write it. (1)
(b) T TONEEH WAG fAETTRI | :

Calculate the mean of the given data. (2)
(c) @ TaTEFar AftAET METEER |

Find the median of the given data, ()

L



(d)

) RE - 1031'KaP
aiger AWNRT 98 agw oy mE hm«ﬁtm wEn gﬁm?mT
eI |
Find the percentage of number of students' who obtained more
marks than median class. . (1)

6. m&ﬁﬁ?{mszqﬂwmﬁmﬁﬁmmﬂﬁ(ﬁm)
ggaar arw Pefeger o)
From a well shuffled pack of 52 cards two cards are drawn randomly
- one after another without replacement.

(a) FFATAATHT T g SETE |

Write the multiplicative law of probability. . (1)
(b) ¥R TCH AW TF T AUH T FEAAA THUTHERR FFHTAAITS

qerfer AT TESTRIR |

Show the probability of all possible outcomcs of getting and not

getting face cards in a tree diagram. (2)
(c) T4 AT AER TUFN T Fwremar FaTegerd |

Calculate the probability of getting both face cards. (D
(d) T AT SRR WU G T T 4 A AER TACH A q

qraTegaas el Tery |
Compare between the probability of getting both face cards and the
probability of not getting both face cards. (1)

-0-
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SEE 2081 (2025)
Ffvard v

qYg © 3 queT quiTEer : WY

mmmmmmmm:

w& uvEE AfTart 81 (Answer all the questions.)

TS WmAthE Praeger wer qeer smgeRa 120 9T ﬁrmﬂﬁaﬂ?r
FHFAT AWV TN 60 W fFde @9 W9 GTH, 55 AT ATSheAd
g AT QRO T 20 A A F 9 @ W AT qIEar |

In a survey conducted among 120 students studying in class Ten of a
secondary school, it was found that 60 students liked cricket game,
55 students liked basketball game and 20 students did not like any of
these games.

(a) a CT B & &AM frde 7 adbeas @9 a9 Weq frardiesar
IHFATE TANEEE 97 p(FUC) B ToMTHEAT SE e |
If C and B denote the sets of students who liked cricket and basketball

game respectively, write thie cardinality ofn(8C). ¢))
(b) IIPT AAFIIETE SATTTAT TR TR )

Present the above information in 2 enn-diagram. ’ (D
(c) Fwde @« 7 79 WIA faardiees mmaﬂml

Find the number of students who liked cricket game only. 3)
(d) FFde &9 97 79 WS T qR@edd J1F 94 Wi frmdt g5@r

4 oA TR

Compare the number of students who liked cricket game only and

who liked basketball game only. - (1)

feree 2 TS AT 5.4,00,000 FY TIST ATHAT THAT T+ ATRST B |
IFa gfaad 10% I @RE WS Afeears deier freetes
(@i 9T =, mmmmthmwam)h@
al

Aatmik wants to deposit Rs.4,00,000 in a bank for 2 years. The bank
offers 10% per annum compound interest to Aatmik with three
alternates (annual compound interest, semi-annual compound interest
and quarterly compound interest).

(a) wiwsr &9 faeermdr &7 fawer waT ol anfereend adr =TT

T & ? AS(erd |
Which option among the above three alternates Aatmik has to usc
to get more interest? Write it. (1)

A
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(b) S79 2 I y=qW nfarfid AT AAATER FA WA Aqray
YIS T HFGA ? T AOGARA |
How much compound interest does he reccive at the end of 2 years
compounded semi annually? Find it. (2)
(c) & wifewsd 2 Fdwr Ty W@ MANE W @ | IgEr g
T Tafas 9Rg @ den A ¢ AT T g TR )
Is semi-annual compound interest received by Aatmik in 2 years
double than the quarterly compound interest received in | year?
Justify with calculation. (2)

TIA wereq #faw = 80,000 3 @R TG | IR dfaAE ganTEEe
2 IGWT ¥, 30,000 WTA ATRTAY WAy | HfeTer g gfaad 20% & =
¥R aTIE T 2 q9GTR IR AT fawn i
A photocopy machine is purchased for Rs. 80,000. After using it for
2 years, only Rs. 30,000 is earned. The price of machine depreciates
annually at the rate of 20% and the machine is sold after 2 years.
(a) #FTE T A Vo, 1M frmmase R T T FuvioRt A
YR Vy WT Vp A% Vo, R T T 3 ST =& TR |
The initial price of a machine is Vo, annual rate of compound
dspreciation is R and the price of machine after T years is Vv,

express Vrin terms of Vo, Rand T, ()]
(b) S¥ ufgw Pt mei WURT TA AE T AREH W T
SR |

Find the total profit or loss amount on selling the machine.  (2)
(© R I @ A W | T @ T A 90 A T e

RN S FH A T AT ? AT TR

If he had sold the machine after using it one year more, then by

how much the selling price is less or more than the purchased

price? Compare it. )
U FAT TN ARG T | = A.%.86.06 FT WA A.%. 1,29,090 €7
wefaqa Ta WA | ¥ frvfe sRfRaa ge@ qEeT Aue qw
2% A WA WO T 39 RAWT 99 MTRET GOw AR 3
T AT ET A2 |
A businessman exchanged Australian dollars with NRs. 1,29,090 at the
exchange rate of Australian dollar 1 = NRs. 86.06. After some days,
Nepali currency was revaluated up by 2% in comparison to Australian
dollar and on that day he exchanged the Australian dollars into Nepali
currency again.

waw
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(2) IW AWWTR Fa AR TAT AEGA ¢ T AMIARA |
How many Australian dollars did the businessman exchange? Find
(N
(b) wwrsfr x::v weat afrfAAe AR I A ahe w8
| WIS TG ¢ TAT WOSRI |
How many Nepali rupees did the businessman receive when he
exchanged Australian dollar after revaluation in Nepali currency?

| Find it. (2)

(c) TV IR WA FHA Sfawa AR Q@ AEE O T
IS |

What profit or loss percent did the businessman make in that

transaction? Find it. (1)

Ty wowr Rrafager 3@ IR 24 @M 7 s e AR
2080 &1

The vertical height of the square based pyramid is 24 cm and the length
of one side of base is 20 cm.

(@) Frafreet amwem qor SRy do R )

Write the formula to find the volume of the pyramid. (1)
(b) ot Rrofire@r @ wawe) S oW FweTE o

-Fmdthctoul surface arca of the pymmid. — (2)
foqr, s 7 |0 P @ o@
& 39 T Ry g, wl A I

24 4. T s @ 14 & A
In the figure, a metallic solid made of

. hemisphere and cone is given, where the .

height of cone is 24 cm and diameter of
base is 14 cm.

() ¥EH JUR T Imww W
HARATAT G JUTE G Araa W AR |
‘Write the formula to find the slant height of cone when vertical
height and radius of base are given, (1

(b) S W TR AT T AR |
Find the volume of the solid object. - (2)



(c)

% RE - 1031'SP"
SH W IREE g 7 {0 e o demen & i
AT WA I AR JAF FA ER T TR |

If the solid object is melted and turned into a cylindrical object of
radius 7 cm, what is the height of cylinder? Calculate it. (2)

7. USA TSR AUR WU FEH AGqT T I FAMW 75 gAeT T
3 e a1 9% Frem e dAa T T WEERET ATEay SAed
6 FMH B | '
The volume and height of a square based room are 75 cubic meter and
3 meter respectively. The area occupied by a door and two windows in
the room is 6 square meter.

(a)

(b)

9iq TR 5.200 F WS WA, T AeF AR Framar @Ry T
W Fd @ 9 ¢ I e |

What is the total cost of plastering the four walls without door and
windows at the rate of Rs.200 per square meter? Find it. (3)
AT Fiaaiiney WY T4 W 0F AAIES agar Wy e
SR T T @ FHaw T8 574 7 T TSRl |

If the rate of plastering per square meter is increased by one-forth,

then what will be the increment ip the total cost of plastering the
walls? Find it. 4 -(1)

Al BRI AR 2 fyer R W Fe Fragen g wE=Tg
WTH FGE TANAIE fFaT TSI ? 91 TFMSTere |

What length of carpet having its width 2 meters should be
purchased from the market for carpeting the room? Find it. (1)

ferrr S wfeera o 5 feaer PR @0 e i |

Hira collected following sum of money in the first 5 days of month

Baishakh.

I e LT EOC ] EIC]
(Baisakh) -1 | (Baisakh)-2| (Baisakh)-3| (Baisakh) -4 (Baisakh) -5

Rs. 10 Rs.20 Rs.40 Rs.80 Rs.160

() AT 2 T 7 ANTE 4 A AIFAT WA GHH AAAA A B

(b)

g .
What is the mean value of the amounts collected on 2™ Baisakh
and 4" baisakh? Write it. ()
TET AT @ 18 st 10 A Rwer #fq @ 9w 16
T WA T G TR |

How much money will be collected by 10® days? Find using
formula. (2)

AT
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(c) wmaar et e & 1,63,830 wgwm W afrm ¢ o
TSR |

Up to how many days of Baisakh can Rs. 1,63,830 be collected?

Find it. (2)
USE AR GAF wEErg HSIEH WA g 7 G we 200
TR G | ,
The length of rectangular field is twice of its breadth and its area is 200
square meter.

(a) T TR W T TR |

Write the standard form of quadralic equation. (1
(b) S AIAFR Fa@T FETg T NS T AMIAA |
(2)

Find the length and breadth of the rectangular i field.
(c) IF gareER GaAr 5 fa x 4 FA 71 agmm 7 o1 ghes A

T wferuar 7 Faamers SUAT FHA T T4 |
How many maximum numbers of pieces having the size Sm X 4m
can be made in the field? Also present it in diagram. (2)

(a) T TR (Simplify):
1 1

— 2
4 x-y x+y ' ‘l‘ 2)
(b) afg x* -33 3-’- 2 T, JHIOTT 7RI : 3¢ +9x=8
If x —33 +3 3 —2  prove that: 3 +9x=8 (3)
frsuar foaam U SR BC 7 3@ A E D F
AT {@lee AF ¥ BC 19 #H=I
g EBCF ¥ a7 ABCD & | 4 4
In the given figure, parallelogram EBCF
and square ABCD are on the same base )
BC and between the same parallel lines B > C
AF and BC.
(a) T8¢ WMWK I FE AT TE@ESEAF FAA TAqHARSHT
T AET |
Write the relation between the areas of parallelograms standing on the
same base and between same parallel lines, (1)

&
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(b) st TR (Prove that)
¥€.9. EBCF ® 8%d =3t ABCD # &%«

Area of parallelogram EBCF = Area of square ABCD. ()
(c) RI@ Perwr PQRS wmar ¥WAWRW
T & T TR & woafeg MW | P S

In the given figure PQRS is a
parallelogram and M is the mid-point of

TR.
yRIfoT TR (Prove that)
ATQM =(4PQT + ASRT) (2)

\

(a) BC=643M, AB=56af. 7 Aé = 6 ¥, wo=r @ P

ABC & 7941 TR | 71¥ 3% AABC Y Syereral awra? &1 70
T3 o 7 .59, wu@ @ DAB # oftt T R

Construct a triangle ABC having BC = 6.4 cm, AB = 5.6 cm and |

AC = 6 cm. Also construct a triangle DAB.having one side 7 cm
equal in area to AABC. : 3)
(b) AABCTADAB ¥ &od &7 TR WY ? SR R |
Why the area of ,.’gi;mnueeqmnciveméqn. (1)
=2 O WCT T &7 P AOB T 9Rfr#T FvEs ADB T ACB
T3¢ =9 AB WT amnfta & |
Central angle AOB and inscribed angles ADB and ACB are standing on
the same arc AB in a circle with center O.
(2) T3¢ W91 AR SRS Prows R T JeE)
Write the relation between the inscribed angles standing on the same arc. (1)
(b) ¥ S AOB, TR Fr ACB # =R TV W Yarmews
AR (R TR | @RI 3 cm AW AUHE LR qORE
AATF & ) |

. - A*"ﬁ“_'

—_—

Experimentally verify that, the central angle AOB is double of the

inscribed angle ACB. (Two circles with radii at least 3 cm are

necessary.) (2
(c) T TFE AW AR FAT PR AW (5x)° T Ry Forgr A9
¢ (2x+10)° 9T x T WA G TSR |

The measure of central angle is (5x)° and the measure of inscribed
angle is (2x + 10)° standig on the same arc in a circle, find the value

of x. (1)
HA
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14, @& x e el w@ afadRe 6 PET Tmm par wifeg 3o
At dar AT 30° F POy FACH A1

A tree x meter high is broken by the wind, at the height 6 meter from
the ground so that its top touches the ground and makes an angle 30"

with the ground.
(a) I=Taret For wAH F & ? SR |

15.

What is called the angle of elevation? Write it. (h
(b) TEF WiTAH ATTR TG x B ETN GH TR |

Express the length broken part of the tree in terms of x. (1)
(c) witaw=T ofeet Taer IR Hi fadt ¢ qan AR |

What was the height of the tree before broken? Find it. 1))
(d) Ffy FurEw wifTA WU IR T qEE AfwET 45° # AW

TG 7 qEr AR |

At what height should the tree be broken so that its top makes an

angle of 45° with ground? Find it. (1
fegua TaTgE Sieer 9qaiv 35% |
The first quartile of the given data is 35.
gT<ig® (Obtained Marks) 0-20| 20-40 }40-60 )60-80 )80-10C
framdt wE@@T (Number of studdnt) M2 x 8 [ 5 I
(a) ShesT Squin 9F Aot 3= TR
Niustrate the class where the first quartile lics. (1)
(b) x B WA YT AMSGA |
Find the value of x. - (2)
(c) Rezu@r awrg@are f@ © AN |
Find the mode from the given data. (2)
(d) R weEia oF af =T A T aw wow faandieed g
HIIAHT ST AR
Find the ratio of students ho are above and below the first qum(n:;
class. .

16. TF TWiTaTE e Fewy y=r A THAAT TeATES AHCH O |

A married couple has given tirth of two children in the interval of five

years.

(a) s T oo I "
Define independent even®®

(b) WeRrE Tk qReA T TR | :
Show all the possible oulcomes in a tree diagram. (2)

HHW
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(c) T T==1 B ¥ g IR T TSI | |
Find the probability of having both daughters. e (1)
(d) T¥ T=a1 BRT ¥ g TRIHAT ANEAH T AT FeA B A
&Y 8T 7 O TR |
By how much the probabnllty of getting.both children son is less or
more than the maximum probability? Calculate it. (i)

0- | ,:x




